1.



2.

O<a<19®, /1-a?2-/(a-1)

@o

@ 2q + 2




& 509 4 A, B. C. D, B7H 347} St 4 B 71 2L A

TEa, b, ¢, d, e BTt O T 2 AL?

A=+Vita, B=V5+bh
C=V52x33xc, D= 160 +2d

D a<b<c<d @ a<c<b<d ® b<a<d<c

@ c<d<a<b B c<a<b<d



4.

V(11— VB)2 -

V(V5+3)?

o
=

7k

TS

3] sfoqat.



5
. 1.2
< VF<21 2 WESE A5
) T oI —’]%}:—
) ng g
sholat,



7}

5

1
=

@ FfH

@ 2% V5 ok VB Atolole Ba B Felhst ok,

® V5ol 7V 7Pt frale 2 ol



ok 2T gol S 4 g1 Al BAZEFol U W, 1- VZ o
gk g2 Fatele
:[ I/ \\ I/ \\ \\
\ \
BN VAR ¥y v v,
-2 A-1BC 0D 1 E



O & W4 @A ErEA] e A2

D 3V2+3<3V5+2 @ -V15+1>-3
® 3-2V2<1+2V2 @ V3+ Vo< V542

® 5v6+ V3 < V6+3vV3






N
S
JLINW(
Y
e S
N T
< W
R
el
g B
~ o
N2
CFRRS
N
o
M5
CEN
o or
o T
S
© o
~ e
o N
N
o
1 ol
N
N N

10.

7t g Aas)

2~
T

Aud <

L)
1

8 N

e}

s

A

»

_-6V/2~-<_

-




11.

@ V1.25 © g
5 5
© Vi @ Vp

D O>0>6>6 ® O>0>0>E@ ® O>E@>0>0
® ©>0>0>0 ® O>O00>@>0




12.

¢

-

g o)

°]7} 54 cm?

—

cm

A7} lek. o] FgA ] vujg

o] 8w



13. o B7] FolAl &

A

fijo

o Zahet

rlo

a1
1=

@ V20 - V45 + V80 = -5 + V10
© VI2+ VI8 + V27— V75 =43

© VI VIS + VB~ VIE= V2313
) 30

® G Ve 0P
® M-W-Lj’g:m
Y

YR
-



14. a= 5ol b=a+ - ol b=ka LT, k & %E Fpofer,

Beix=



of g

_ 2
%ﬂyﬁ+;

e yeral

il

Stofet,

:I]_



16.

the AFIRE ol gt
V2 + V0002 O] 3 & 7
SH1Y (%, 25 YA A1)
A e

S
8

@D 1.861 @) 5.897

E 0 1 D)
2 1.414 1.418 1.421
19 4.359 4.370 4. 382
20 4.472 4. 483 4.494
21 4,583 | 4.593 | 4.604
3) 1.498 @ 1.361 (3) 1.459



17
R
Q}g‘a—lLOﬂH V3 =
= DO}OZ‘E} s
2 9w, V1.3 9]
&e a4
A AR 2
Fe] el &
q

5]

it



18.

74 VI3 o B4

et 2 F-shefzt

=
-
SER

c

[e]
HBSa

)

a

2~
e



19. the % Q4R Zlo] 24

59

> A2?

© 2522 - 20xy + 4y* = (5x - 29)?
@ ax® +2ax+a = (ax+1)?

® fa + ab+—b2 (1a+3b)2
9 16 3 4

4 4 2)2
2 _ = = _ 4
@X 3x+9 (x 3

® (xy)? +22xy + 112 = (xy + 11)?



20. (a+b)(a+b+3)+2F AFEfFS o, &2 A2?
@ (a-b+1)(a-b+2) @ (a+b+1)(a+b+2)
® (a-b+1)(a+b+2) @ (a-b-1)(a-b-2)

® (a+b-1)(a+b-2)



21.

x? —y? 4+ 8x 4 4y + 12

O (x+y+3)(x-y+4) @ (x+y+4)(x-y+3)
® (x+y+2)(x+y+6) @ (x+y-2)(x—y-6)

® (x+y+2)(x—y+6)




22.

282 — 112

25 x17-17x12

o kg Auata?

D 12 ® 9 B 6

B 1



23. V5O A% RESa e Bl 0+ da+4 9 P FotoleL



24. xy=50°]2, 2%y +xy? +2(x+y) =42 L W, ¥ +y? 9] g7

@D 10 ® 15 A 20 @ 26 B 28



a® —a?b + ab® + ac? — b3 — bc?

25.



